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GCSE Mathematics

Practice Tests: Set 9
Paper 3F (Calculator)

Time: 1 hour 30 minutes

You should have: Ruler graduated in centimetres and millimetres,
protractor, pair of compasses, pen, HB pencil, eraser, calculator.

Tracing paper may be used.

Instructions

Use black ink or ball-point pen.

Fill in the boxes at the top of this page with your name,
centre number and candidate number.

Answer all questions.

Answer the questions in the spaces provided

— there may be more space than you need.

Calculators may be used.
Diagrams are NOT accurately drawn, unless otherwise indicated.
You must show all your working out.

Information

The total mark for this paper is 80
The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice
e Read each question carefully before you start to answer it.
e Keep an eye on the time.
e Tryto answer every question.
e Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the stages provided.

You must write down all the stages in your working.

1 On the dotted line, write the number so that the two fractions are equivalent. -E-q)_u\;almd fechienas
s
A e l O
100 25

(Total for Question 1 is 1 mark)

Cosueinia FOP

2 Write % as a percentage.

(Total for Question 2 is 1 mark)

3 Write ﬁ as a decimal.
100 USE YouR CA-LeuAcTor.

(Total for Question 3 is 1 mark)

Frowchieac ot o Ameud”

4 Work out g of 72

If
&

%—K L

(Total for Question 4 is 1 mark)
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Here are the first five terms of a number sequence.

\ a9 = w A 3 1)
96 90 84 78 72 66
== = 4 ooy )

-6 —¢ -6

— =
(a) Write down the 6th term of the sequence.

, (1)
(h) Explain how you found your answer to part (a).
e . F2L-6 =66,
1)
The 15th term of the sequence is 12.
(¢) Work out the 14th term of the sequence.
Y% IS
1L oeposm = +5
 —
+S
| 3
............................. B - PN
(1)

(Total for Question 5 is 3 marks)
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The diagram shows a rhombus ABCD.

P
a

(a) Measure the length of 4B.

Deles

H.€
....................................................... cm
(1)
(b) Measure the size of angle ABC.
.................... WO
(1

(Total for Question 6 is 2 marks)
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Unohgry Meetiod

Potatoes cost 1.20 euros per kilogram.

(a) Work out the cost of 5 kilograms of potatoes.
£1.20: k9
(xs) | €cw:" Seg

Courgettes cost 2.55 euros per kilogram.

(b) Work out the cost of 0.6 kilograms of courgettes.

€2. S'S".\\irj

(218) | €oass 0Ny
(&) | € 1L8E% VCHEn
.................................... |'53 euros

1)

Carrots cost 0.84 euros per kilogram.
Onions cost 0.92 euros per kilogram.

Anna buys 500 grams of carrots and 750 grams of onions.
She pays with a 5 euro note.

(¢) Work out how much change Anna should receive.

Corrot paca | €O 84t ey
€:2) £ 6942 1 SO

Onians prics €0 A2 . 1k
(=) | £ 013 ¢899
(=) | €0.69: F50O9

Total CoRt oML+ E£0.64= €.l (3)

(Total for Question 7 is 5 marks)
chenge g\\m €£€S.0co-£&L\ = £73 .89
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Ang\e PreperseS

Five angles are marked in the following diagram.

(a) Write down the letter of the angle that is a reflex angle.

Rekween. V80 o\ €O S
1)

'3
Diagram NOT
accurately drawn

85°

AT h
2 0 R

235
1)
POR is a straight line.
(c¢) Work out the size of angle g.
: o °o_ 123°
Arpfas on Shreaght Lne = 88 IRO-s7- =123
R 1.2 I
(1)
(d) Work out the size of angle /.
Pngles un o tiage =120 | (RO -~ 8S™-S3° = 28°
e
(2)

(Total for Question 8 is 5 marks)
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9 (@) Workout (-9)—(-15)
= =q-— S
= -9 +15
= &

(b)) Workout 6 x (-8)
+6x- %

4—»(»-*“—-@

= — --'L‘:'&
- - - -

(c) Workout (-64)= (-4)

-G -\

r\)eﬁah\;{ N umoers

(Total for Question 9 is 3 marks)
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10  (a) Simplify g+2g+3g—4g
llek + 2Leks tTekS —WlebS = 2Lloks = 29

(1)
(b) Solve 6m=18 go\\)ﬂ;\g Ecpuarhony
em =%
(0| m=2
S _ 5
I o e A R A R SR A R MR R
1)
P=46—3st
(¢) Work out the value of Pwhens=2andr=5 S"b%*\b’\
P=we-3(2)(S) &—use Youl catcunToe
P = &
P=. L&
(2)
g=ae+3f SubShyu o~ Grol recwro«auil}
(d) Work out the value of e when Q=43 and f=7
Subshiule | 423 =Le+3 (%)
W = het+?|
(=21) 22 =Le
- 2__'2—' % -
( = %) l..‘. = - S- s_
€= . SS— ..............................
(3)

(Total for Question 10 is 7 marks)
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11  The area of land on a farm is 120 hectares.
7
The farmer grows crops on 5 of the land.
2
On 3 of the land used to grow crops, the farmer grows wheat.
(a) Work out the area of the land on the farm used to grow wheat.
- T =
Creps ﬂgf‘)—-f?.@—rgxclmﬂlos
= DS =2 xS = O
Luhaetk = o | = =
....................................................... hectares

3)

Last year, the farmer made 31 500 euros from selling his wheat. @e rco ,..*.oa eSS

His total income was 42 000 euros.

(b) Write 31 500 as a percentage of 42 000.

W\ " O ==
NIDO ad=b 2om| —= _SSR0 = 03
2000
/. (mot:ﬁ = WY

2)

(Total for Question 11 is 5 marks)
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12 Show that 3§~+2~1-: ll
8§ 4

2
= 2F L= 2
Thpreper drachions i cwnd QA4 =
i JRCHPC, - 23 a
= e e TR i A
38 =g % - o
v C_ E % = LIE tove UNLCUOATOL
_ 1oK
Y
.
3
\
Mixed Numdeos~ = \'.—z_ I’_'_]
e —

(Total for Question 12 is 3 marks)
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13 (a)  Find the value of 59319

29

................... (.1)
(b) Find the value of 6*

T exbexcect
124 &
(1)
(¢) Work out the value of (125'6) .
4.7 Calodevter Sleiins

Write down all the figures on your calculator display.

(2)
(d) Write your answer to part (¢) correct to 3 significant figures. M/S
FH o3RS
VL. .. .. SN
| ranos o —r- —_— 1)

(Total for Question 13 is 5 marks)
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3 (a) On the grid, draw the graph of y = 4 — 2x for values of x from —1 to 3.

TTE T
3le o |z]of-2
ya
| —
N ) S N N S B
N
i ! |
M P R 1__ A S T
. b, I S P S . -
ST S - O
;1 IO 1| | \”2' B 1?
A | B T R SN T
I p— l_f -, S !__J_ - 7i |
= B | __—J'"’"* T %’:L.p—?_.:)(._

(3)
(b) Write down the coordinates of the point where the graph of y = 4 — 2x crosses the
lmey=1
\- S \
S 3 e, )
(1)

(Total for Question 3 is 4 marks)
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15  The diagram shows two cogs, A and B.

There are 32 teeth on cog A.
There are 24 teeth on cog B.

(a) Write down the ratio of the number of teeth on cog A to the number of teeth on cog B.
Give your ratio in its simplest form.

A: R
2224
('—_g‘) (R e .

s iiiaeesssessescsessssiisiatianttacsianianstansansanantan
e

The two cogs both rotate.
Cog A completes 12 full turns while cog B completes 16 full tumms.

(b) Work out the number of full turns that cog A completes while cog B completes Q&h o
60 full turns.

wﬂﬂ':wg\?

1 A (| &
o TK’S’H' 60516 S

p - S 60O

P
|
I
n

(Total for Question 15 is 4 marks)

Edexcel GCSE Mathematics (9—1) Practice Tests Set 9: Paper 3F — Spring 2019 13



AN@LQJUA @cr(& ey

5 The size of each exterior angle of a regular polygon is 24°

(a) Work out the number of sides of the polygon.

- j o
Sunn o f encteriers 2L n = 360
= 80"
(= i) N == 5
'S
(2)
Here is a pentagon.
Diagram NOT
accurately drawn
128°
1372
tO
() Work out the value of r.
3 - Q
S Garay Qrgi— N [ NSYe (S=2Yyx 1RO = ng—o

rnglos of o pgvdﬂ@w

1237 +12%7 FA0 +A0° + £ = SuO
o o O
TEE = +B = SN

(,,_.L*ug) e = ClSG

(Total for Question 5 is 5 marks)
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V’\(\/\QJ] G{I.EJ s (:r G ngulag_d Z:‘*ecﬂt/@/ﬁ

Marta breeds dogs.
32 dogs give birth to puppies.
The table shows information about the number of puppies born to cach dog.

; ' “
Number of puppies Frequency Mmidpout [[Ly
; 1O
-3 5 2

4-6 12 & ©0
7-9 10 % g0
10 - 12 4 [ Nl

13— IS 1 4 W

ToTAS  Tl=32 Sl 2OW
(a) Write down the modal class.
MesT FLEQUENT
L-&
(1)
(b) Work out an estimate for the mean number of puppies born to each dog.
Esh rr'\cl-'tﬂ 'E‘Ic}.«f’ tla oo = E{lm
el
- 220%
=
= &S
&, 5
(4)

(Total for Question 6 is 5 marks)
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18

-V

1 | ||
| ] |
6 | -4 | 2 |0 2 | 4 | 8 10 | 12
SRR WAV KSR FS——"m. Fm— s _2 - - ; ,:,k., - A,
| 1 ‘ | i .
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oA

(a) Describe fully the single transformation that maps shape A onto shape B.

(b) On the grid, rotate shape A 180° about (4, 0)
(2)
(Total for Question 18is 4 marks)
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19  The diagram shows a solid triangular prism ABCDEF.

Diagram NOT
accurately drawn

EF=8cm, DE=6cm, DF=10cm and BF =25 cm.
Angle DEF = 90°

(a) Work out the area of triangle DEF.

Drec ~ bk A= o< bou — =
W T: T~ —_ Q—LQCM

/ ....................................................... cm?
(2)
(b) Work out the volume of the prism.

Vz=csn xlenghh V= 2hem X 2.5em
V= oount
..................................... SO om
(2)
(¢) Work out the total surface area of the prism. < ‘F“ g
@ A=lexh O f= Comrsber anend
B ‘Sune sx O @) Sewaos O=Ueum"
T )
@ A = Lew (lbacik) @ A= 25X ‘fDC-M“‘lSOQm{L ...................... cm?
- 2Dt 3)

@ A = lLew (QQ.MP) @ A= ZSLM\([%MM for Question 19 is 7 marks)

Totl Scrfece Rreo 2hem +2ieat 4 D0 ent 50 ene F1SOen = EF o

—_—
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Sets Thaory)

#“= {fish in Jake’s lake}

A = {fish of length greater than 20 cm}
B = {fish that weigh more than 1 kg}
C = {fish less than 1 year old}

A fish in Jake’s lake is caught.
The fish is 2 years old, weighs 1.2 kg and is 19 cm in length.

(a) Write down the set, 4 or B or C, of which this fish is a member.

NS Tun #, =

'M ) B / -' . fSU-Si_ B .......................................................

NCTu C, — (D
(b) Describe in words fish that are members of the set AU B

or

Py mshh Thed” owe grocdes (han  200min ag i o

sl mene. Haen... ng,“%‘oow ..............................................

(2)

(Total for Question 20 is 3 marks)

Edexcel GCSE Mathematics (9-1) Practice Tests Set 9: Paper 3F — Spring 2019 18



21

fwwg expressions

The diagram shows a rectangle and an isosceles triangle.

All measurements are in centimetres.

2x+2

Diagram NOT
accurately drawn

x+3 X3

4x+1 2x
(a) Write down an expression in terms of x for
(i) the perimeter of the rectangle,
P = 2sctz 1 4ot +2o0t L HNoth
cellack =Rt 122658 e, cm
(11) the perimeter of the triangle.
P = X+ +>x4+3+ 2
.................. G268 om
otk | BB wzes @
The perimeter of the rectangle is equal to 2 times the perimeter of the triangle.
(b) Work out the value of x. -(:E_-y Mij o _Q&wiff) &‘V‘-"Ca‘t"f
Show clear algebraic working.
A
%M\L;ZKRY;%Q 2 N 2svE = ( Lﬁ'x-'l‘_'é‘)
ﬁ@qpcr\ol [Zsev6 = %%,
(-8x) i +6 = V2
(&) Lk x = S
& — __.;6__ R S

(Total for Question 21 is 6 marks)

TOTAL FOR PAPER IS 80 MARKS
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